£t = X F ¥ 20244 4 A24 - 258 (K - %)
2 iva Em K# [:4vd Em K# WHsRIE
B 2yyanznyy Hh & # 6 5 [R1—v%7} M A& &L Em K%
BB |onmmrr imnsrs =H RE #% 704 [h>7L—% B ME % 16 |[ohr7L—% HE FFE
3L |HuRF BE 7 7 5 |2FNEWEET b HE £— &% 2 |B—rn14-2 EFEE &
450 |EigkesEt X [ER K 8 O i |V T4 =izt AL i 3 |EEFT v HRH PR EEF R
5 |[REFTvMRMH e A& 8 5fi |[FHFL—% il FE % 4 |FEFL—% A BAE %
6L |F—Fssvs AfR BURE B 9 0fif |&An£iHiEEXT b A MF & B |2ANEiERE NE —# %
1L [sHhr7L—% [1TF: NP= ol 95 |[Ya—X¥7—27 SH R &% 6L |[0®T4RREH =8 EF &
8fil |sAntmemR HH B & 10 0fijeny7L—% &8H F& # 76 |Y2a—X5—2 25 EEK
Ofif |F¥rVU—4—2 AT EAIE |105G|ons iz HAd  HE &
10fi |FEF7L—% A BT &R 110G B H 3AF #& LHE [F3-t-—- EFEBEK
154 [avFvoraxtn % B ¥ 11546~y Ey—FEy b =afE TER &K
200G |[5—%F7 ¢+ FEEHFXHE |12 0AzjABH FEE KE & BGE |FA7L—% Hrh # &
2 5{i |FEF/L—% HREFEHK |12546FEIL—% BH ERK
3 0L |gAnxiems7 b B EtE % 13 0fi|EB@&In KR Rt #% BBE |Xf& AL B
3 5 (ABH B BEE & 13 5fi|va—X4r—-2 K BEK
4 0L |[7423—€— Sk A Y_TE
4 5L (VT4 RiEH BH Fif ABUAND6 5@ LD L34 XRE]2day'sa ¥R
50k [ohv7L—% BREAE | S-TE|[RUsVvEYE KA 2 4% IDF W
b 5fif [#ANEWMEE7L | #HAKk EEHK | Y=TFHE |RYsVvbEvE M f0a) i 58248 () <258 (X)
6 0fif [7423—E— WE = S=7HE |2UsvEy b SR fEF 4% CEMBFBLLTEYET,




